Grade 5/ Scoring Key Clay Pottery

Q SMARTER BALANCED PERFORMANCE TASK

Item 4

Claim 3
4.NF.4c

SAMPLE  SCORE RATIONALE

A 2 The student’s response identifies a series of Items that, when added together, would use exactly 12 pounds
of clay. The equations model the student's thinking process and support the student's plan, expressed in
words. The explanation connects the mathematics to the context. The response earns full credit of 2 points.

B O The student’s plan exceeds 12 pounds of clay, and there are no calculations provided to support the plan.
The response earns 0 points.

1 The student’s calculations represent an attempted plan to use exactly 12 pounds of clay. The student's

C equations outline the thinking process used to correctly determine first that 3 small plates would use
71/2 pounds. The student then attempted to add 7 1/2 to the amount of clay needed for 2 small bowls,
and indicated an incorrect sum of 9 1/2 pounds. Using this incorrect sum, the student then added the
amount of clay needed for a 4th small bowl and found a total sum of 12 pounds. Although the student's
reasoning is clearly expressed and the explanation clearly connects the mathematics to the context, the
stated plan does not fit the requirements due to the incorrect calculation. The response earns 1 point.

D 1 This response includes a set of values and calculations that are both contextually sensible and accurate,
except for one: 3/4 + 3/4 =2 1/4. The provided total sum of 12 1/4 pounds suggests that the plan does not
fit the given requirements of the problem. Moreover, even if all calculations had been correct, the total
sum would not be 12 pounds. The student provided the amounts of clay needed for each project taken
directly from the provided table, which does indicate a connection between the values in the calculations
and the context. However, there is no stated plan to make an explicit connection between the values, the
projects to be made, and how many of each are to be made. The response earns partial credit of 1 point.

This response, though a little hard to follow, connects all of the essential points of a valid explanation that

E 2 relates to the context. The plan is to make 8 small bowls. The explanation begins with a statement about the
amount of clay used for each bowl (1% pounds) and the amount of clay used for 2 bowls (3 pounds). The
student then provided calculations showing that the second value, 3, must be multiplied by 4 to get 12, so
to use 12 pounds, 2 bowls would also be multiplied by 4. In other words, 8 bowls would use (1% pounds per
bowl)(4 x 2 bowls), which equals exactly 12 pounds of clay. The response earns full credit of 2 points.

The student’s response explicitly presents a plan that exceeds the amount of 12 pounds required in

F 1 the problem, as well as incorrect calculations. Though the conclusion connects well to the context of
the problem, the excess clay needed for this plan suggests a reasoning error in relation to the given
constraints. The response earns 1 point.
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Item 4 (continued)

Claim 3
4.NF.4c
SAMPLE  SCORE RATIONALE
G 1 The student provided contextually sensible and correct calculations that yield a sum of 11 pounds of clay,
rather than 12 pounds of clay, so the plan does not meet the requirements given in the problem. The

student clearly stated what projects are represented in the calculations, connecting the mathematics to the
context. The shortcoming in the stated plan appears to be a reasoning error, and not due to a calculation
error. The response earns partial credit of 1 point.

H O The student’s plan to make two dinner plates will not use 12 pounds of clay, and there are no calculations
to support the student’s reasoning. The response earns 0 points.
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